SplashLearn

Identify the Operation

Circle the correct expression for each story situation.

@ Tim bought 4 baskets of apples. Each basket has 6 apples. Which expression shows the total number of

apples Tim bought?
w5 ®

(2\ Matt bought 2 packs of pens. Each pack has 9 pens. Which expression shows the total number of pens

Matt bought?
[2x9 | - /

C Drake buys 8 packs of batteries. Each pack has 5 batteries. Which expression shows the total number of
batteries Drake bought?
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Q Tod has 5 baskets of fruits. Each basket has 3 fruits. Which expression shows the total number of fruits

Tod has?
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) Emily has 3 fish aquariums. Each aquarium has 4 fish. Which expression shows the total number of fish
Emily has?
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